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LTlL”aUfl W~U1l.l  0 il Yi%JU?U@i  (zero polynomial)

WYUIU  a0 IWJCI  a0 f 0 ihX%J+U  0

r3-iLiun  W~UIU  a0 il W~%WJfilfNCd  (constant polynomial)

WYWIU  a0 + alx + . . . + at”  hJft  ak f 0 SXSil~U  K

51 p(x) =
co
X

i=O

(leading coefficient) WN  p(x)

E-Y-I  p ( x )  = Z
i=I

&Xi  rk?a  LGn  a0 il  woh~aiauo~  p(x)
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= if0 ((ai  + b;) + CI)X’

co
= Z (ai  + (b, + c;))x’

i=O

0)

= X ad + ; (bi + ci)xi
i=O i=O

zz ifo six’  + ( iio  bix’  + f CJ’)
I=0

II Ox’+ C six’  = E (0 + ai)x’
i=O i=O i=O

bba: i! six’  + : Ox’ = g (a, + 0)x’
I=0 i=O i=O

at! g ad E R[x]
i = O

m co cc
. Z six’  + X (-ai)x’  = x (a,  + (- aJ)x

i=O i=O I=0

l
cc

z TX o⌧�

i - 0
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&h Ck+n =
k+n
X ajbk+,.;
j=O

deg(p(x)  CM) = degb(x))  + de&Ax))
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61 deg (p(x)) = 0 Uth

p(x) tihwqu1ufi1n.¶or?

&ih p(x) = a

p(x) - (akb;’  ?-‘I)  q(x) = s(x) q(x) + r(x)

bad  r(x) = 0 M?O deg (r(x)) < deg (q(x))

&i?U  p(x) = /s(x) + akb;‘x”-“1  q(x) + r(x)

(principal)
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